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16 x (72 + 8)

@ 16 x 72 @ 16=8 ® 72+8

@ 16x8 ® 72x8



the AolA 71 WA Astslo 3 22 of

12x(7-3)+2-1

D 12x4
@ 2-1

@ 7-3
® 12x(7-13)
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@® 24— (7T+12) @ 43-(24+9)

® 16+ (14-7) @ 60— (24-17)

® 36— (12+7)+4



o= 3 ( )7H A FE o = ALt A7 AR gleE Als BF 2L
e T L.
@D 9+ (12x4) © (8+3)x7
© (35x4)=7 @ 56+ (20-13)
@ 34-(28+4)
© 0,06 ©® 0,6, ® 0,.6.0
@ Q,6,0 ® 6.8 0

ru



@ 72— (354 26)
® 51 —49 + 36

® 40 + (100 - 68)

@ 75446 - 69

@ 51— (16 + 16)



6. A2 shtel Aoz veryAe.

26 x4+ 10+2 =105
30-45+9=25

@® 30-(45+9)x4+10+2 =105
@ 30-(45+9%x4)+10+2 =105
® (30-45+9)x4+10+2 =105
@ 30-45+9x (4+10+2) =105

® (30-45)+9x4+10+2=105



72+3x84+13=16

O 72+3x(8+13) =16 @ 72+ (3x8)+13 =16
® (72+3)x8+13=16 @ (72+3)x (84 13) =16

® 72+ (3x8+13)=16



58 4 ]s=26

@ x,+ ® +,-

® x, -
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5x{(6+ 14) x 2 — 10} + 15

@® 163 @ 165 ® 160 @ 157 ® 168



10. o BAol Fol HES () E QWA BA @ AL 12X
56+8—-6+2=14
@® 56+8—(6+2)=14 @ (56+8)-6+2=14
® (56+8-6)+2=14 @ 56+ (8-6)+2=14

® 56+ (8-6+2)=14



